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JERRH R X 1 93, 871, 353
HEELT = 1 829, 964
BEARRE AT = 1 829, 964 | BAIAS (BLEE) ¥ 1 860 m3
4. 0mPL E
FHIA Ob-27) 960 m3
+Hw 550, 000m3 AT ;
b 960 m3
0 Cadl- EHIRY £5T) ;
MR B T = 1 6, 699, 303
[l 1 EV 1 6,633, 600 | RJETRAALEL 24 ES
(Type2) 6751 L1
EIFI/IBRE RN E220ke/m3 ARLEL2. 3m (Hid)
EAFTERE12. I SEXIFLE10. 3m ;
P ALER T = 1 65, 703 | FHiA (b-27) 1 =X
+Hw 550, 000m3 AT ;
T wb AT 1 2V
0 Cadl- EHIRY £5T) ;
AV =p T 2 1 84, 008, 380
e+ T 2 1 1,178,775 |FRIEY 1 X
+4)
HEL 1 2V
FEHA O-27) 1 X
+Hw 550, 000m3 AT ;
b T 1 X
0 Cabl- EHIRY £5Te) ;
b T 1 X
0 Cadl- EHIRY £5T) ;
7 VR AN = T 2 1 72,959, 981 | HEEES 195 m2
BAEITyvv7/40~0 FEIE 0. 25m ;
JLpgEay ) -h 195 m2
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18-8-40 (% JF) %= 20cm ;

TEFIM R E 102 m
HIEEM 100X 100X 6X8 ;

Paft 25.5 m
HZE 6200 X 4300 ;

VANUINEUN 100 (E10
PC)"79b ;

TEA IR 0.8 m3
(BT OHER)
SEAHEEV A

TEA IR 0.3 m3
(et D)
SEAHEEV A

P =F:l 530 m
R

N E H# 452 m
R

v=bh7k 481 m
V=MiE300mn ;

y=hBAzK 50 m
V—MiE400mn ;

s 1 =X
BER Yy MLEE

JEERR T 2 1 6,128,321 |av)-p 92 m3

40-12-25(20) (&38) ;

T 1 =X
— e

E491] 1.3 t
SD345 D13 ;

i53i0) 5.03 t
SD345 D16~25 ;

i53i0) 4,08 t
SD345 D29~32 ;

H bR 8 m2
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TR AHERT B i t=20 ;
1B 9 m
CF (Yt #1) 200X 5 ;
IK K BE 11 m3
24-12-25(20) (&)
BT X 1 3,741,303 |2//)-} 3 m3
24-12-25(20) (FiF) ;
A 1 X
— e
i53i0) 0.63 t
SD345 D13 ;
i53i0) 1.15 t
SD345 D16~25 ;
BRI 1.73 t
SD345 D29~32 ;
SRy VA 28 N
SD345 D13 L=430mm 4 J&FR7/1-(DI3H) ;
SRy VA 4 N
SD345 D13 L=230mm &)@ FR7/1-(DI3H) ;
BB RT N 63 N
SD345 D16 L=540mm 570~ (D16H) ;
AR 1 X
£<40kN/m2[t<120cm] ;
B 1 X
Ry M
HEKHEEY T = 1 160, 247
HNHEAKL = 1 160, 247 |H1FHEK 61 m
BRE
MRE T 2 1 229, 620
JERE PR T 2 1 229,620 | R 1, 000 m2
JEHNT
BB 1, 000 m2
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TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
PAHAR R
FE 2, 000 m2
TEIA 2,000 m2
BRIEALSY 1 t
s ALER T = 1 1, 310, 350
IEALBREE T = 1 1,310,350 |95#5%y 1 =X
% 1 X
HEE L = 1 192, 489
e LT it 1 107,104 |27~ g L 10 m3
MRS BhkE T
ERZE R LD 1 2V
TA77VMERZERR 15emPA T 5
EhAE AR AR 102 m2
TA77 VMRS BEERE e m
TR AL T = 1 85, 385 | B Mk 10 m3
av ) -bik (BERR)
IR 5 m3
TAT 7V
By 10 m3
av ) -bik (BERR)
By 5 m3
TAT 7V
% T = 1 441, 000
AR IEE BT 2 1 441,000 | A EEHEELE S 1 =
RN X =X 1 93, 871, 353
B X 1 14, 793, 700
Im iR Ex % = 1 4, 346, 700
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TE R 2 3,329, 000 | B R AAR Sy A T 5 B 1 =

HeffrE sy = 80, 700 | 18 & fiti i FeANT —HERK E 1 F2V

N bV HE R 1 F2V
BGRESGESE (5 L) = 937, 000
B (FEEHL) = 10, 447, 000
T = 108, 665, 053
Bl gy = 37, 166, 000
T =5l = 145, 831, 053
— R A = 23, 788, 947
TS = 169, 620, 000
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